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o T UM TS AT AEH B e [t is mandatory to attempt all the questions.
o Wi U % I YU H YR W &l f5d| e Write down the answers at the appropriate places provided.
o WIUATFHFS 12 T £ o This question paper contains 12 Pages.
o T U % HE I g T e Marks are indicated against each question.
o TG YW U F IE A fRaq wem & ¥RAE [ o The model question paper should be used by the students
F| for written examination practice.
9% - 01. TEl fFheq F A (v) g SRR - 10x2=20

Question - 01 Put a (v") mark in front of the correct option -

1. Gk 01 % Gegd § ie-H1 Fge G T8 &
Which of the following statements is not true with respect to complementary
angles?
(31) 40 3= TE 50 S S T R0 F FHE
Both 40 degree and 50 degree is a pair of complementary angles.
(3M) 31 9 10T R GWT90 AR E 2 |
The sum of two complementary angles is 90 degree.
(@) 50 371 F G B0 H A 30 S B
The value of the complementary angle of 50 degree is 30 degree.
@) 80 3f21 % YT F0 H GF 10 2

The value of the complementary angle of 80 degree is 10 degree.

2. HE & - 500 FT120 % = veveeern.
Find the value of - 20% of 500
(3) 20+50-10 (3 80+ 20
(3) 500+ 20 @ 75+5
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3. frafoRad d fa-aIFaA @ale ?

Which of the following statement is correct ?

(%)

(3T

®)

®)

15 1 IOMHS Hfdes™ (-15) 21
The multiplicative inverse of 15 is (-15)

17 1 oMo, S 2 2
(1)

The multiplicative inverse of 17 is =—=
15 1 T Hided — & |

The multiplicative inverse of 15 is 1—15
(-15) F1 T T — &I

The multiplicative inverse of (-15) is 1—15

4, (-10)x0x(-2) HESE -
The solution of (-10) x 0 x (-2) is —

(%)

®)

20+1 (=M 20+0
20x 0 (é) 38 @ %12 71/ None of these

5.  Jd R % g | | O @ S99 $E TISA B 2

Which of the following statements is incorrect regarding equivalent fractions -?

(%)

(3T

(®)

®)

f\

S AigafE = E

The equlvalent fractlon of the fraction % is % :
20 o\ 5 3

= dgeahm > 2

The equivalent fraction of 2 is E.

SN D

QQFIPW%WWWWEHEI

The cross products of two equivalent fractions are equal to each other.

20
50

2
5
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6. HUAFTEHAFEETARA-ATTRIE?

Which of the following can be written correctly regarding measurement?

(37) 159 =15 f&a (3 153™ = 0.15 &
15 grams = 15 kg. 15 grams = 0.15 kg.

@ 159® = 0.015 f&a @) 159™ = 1.5
15 grams = 0.015 kg. 15 grams = 1.5 kg.

7. frmda e 7'@%/ Which of the following is not correct -
(3N 24+4+02=26 (M 24+02=12
(@) 2.4x02=048 @) 24-02=22

8. /1 H 1 F¥9 F1 991 = /Select the correct statement from the following -

(31) oM = [T — FIHH
Profit = Selling price — Cost price

(3M) M = FHIHA — [ITHA
Profit = Cost price — Selling price

@) M= [TFTea / v
Profit = Selling price / Cost price
@ o™= wea/ e
Profit = Cost price / Selling price
9. [ FgAl B TR 5 T e § Wl ferieq 1 =g L -
Read the following statements and select the correct option from the given
options -
() FRelt a5 oTTpfal % ARE TR 1 0 1 A IRATY FESAT & |
The sum of the distances around a closed figure is called its perimeter.
(M) TRl g STTHRT g S T T, I SATF (] 1 SR FESIAT & |
The space enclosed by a closed figure is called the area of that figure.

(8)  THd 1 §THS = B x TR
Area of rectangle = length x width

(é) T4 9@ %1 7’1 / None of these
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10. &1 9% FIUT 1 W1 &FT- / The sum of two Complementary angles will be-

(&) 90° (=M 270°

@ 180° @  360°
5 — 02. <k @Ml 1 gfd IR — /Question - 02. Fill in the blanks - 5x2=10
1. 345 % 4 1 TGRSR QT oo, &N |

The product of the number 6 x 1000 is ............c........

TS STEE! &l G

Arithmetic mean = Total number of figures

5. U oI ikl TS R S garg |

The average of the first three natural numbers is .....................

s - 03. fermafesRaa gl & R o e i - 5x2=10
Question - 03. Consider matching the following pairs -

1. 15 oo F. W
Deviation of 15 Median
2. 4 cm. YT a1 991 F GRAY . 399 H g9 i 2|
Perimeter of square with side 4cm. Equal to each other.
3. WA H A A1 UG H A T 16 cm.
Value of the middle term
4. I HO g9 90°
Corresponding Angle
5. 19 R0 AR g +5
Sum of two complementary angles 9. HE& / Mean
3. OE H T g 2l
Not equal to each other.
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5 - 04. ot fosRea il & e 1ec 1 99 iR -
Select the true or false of the following statement -

1. 3 &Rl F1 AT Had I o4 RIT & & |
The mean of two numbers always lies between them.

2. G079 dl YT T AT & SRUTeHS IRAET G&1 2 |

5x1=5

The number “0” is neither positive nor negative rational number.

3. U A Sk TS R S garg |

The average of the first three natural numbersis ...................

4. 1005 &I f=a-1 -5 812 |
The deviation of 1005 is -5.

5. 28 &l fqgaH @& 33 &I g |
The Vinkulam number of 28 is 33.

9 - 05. Afel FHELR 921 —
Question - 05. Very short answer type questions -

1.  UF FNER FH& FH IREY Sd e e &= 10 Hie &l |

Find the perimeter of a square room whose length is 10 meters.

10 x2=20
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2. Al 6 IS B e 60 &. & qd UHt & 10 TSRS B od Fid HifeTT |

If the cost of 6 garlands is 60 rupees, find the cost of 10 such garlands.

3. 539 F GHFL {1 51d HL |

Find the arithmetic mean of 5 and 9.

4.  TOTRS T & — (=5) x (=5) x (-2)
Find the product - (-5) x (-5) x (-2)
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5. UgeA-AdESH G & STANT H ANThHS Fd & —

Find the Sum using the sankalan-vyavakalan formula

85 +33 +89+ 18 + 22

6. 25 % i Gl Rfe | EE{I%'& | / Convert 25 % to a simple fraction.

7. 50° % Gk HU A L |/ Find the complementary angle of 50 °.

S NI aN

8.  [vT& Y Hl GHIF &9 H [SRIT |
Write the following statement in the form of an equation.
Feft S & 4 Sien T ARTHRS 20 HTE EdT 2

On adding 4 to a number, the sum is 20.
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9. 5473 AGHGH G &I G &A1 H foifay |

Write 5473 Vinkulam number in general number.

10. & &L/Solve :

(=12) x (=2) [5 + 2]

T - 06. ST 599 —

Question - 06. Short answer questions -

1. 5Td 15 & AA Td L |
Find the mean of 5 and 15.

5x3=15
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2.

o 3 ﬁ o oo l

Write the definition of rational number.

2 : 5 % i ged SIJ9Td Fd &Y, |

Find three equivalent ratios of 2 : 5.

T GEER 250 €.5 TF FEl %l 9 L 300 €.5 [oha T A8 | GHFER i fohael €99

T SN T &7+ g2

A shopkeeper buys a chair for Rs 250 and sells it for Rs 300. How much

profit or loss did the shopkeeper make?
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5.  Ofe g 1A 7 GHI. & o 99 I BT a9 5% Tnd Y |

If the diameter of the circle is 7 cm. Find the radius and area of the circle.

g - 07. " SO0 st —

Questions - 07. Long answer type questions -

1. 901 gid: T & Sl SHuE e T |

Yoge yutih syat ksayayoh svayorva dhanarnayorantarameva yogah!|

I I Tl AT FI GHINA g A Fl &S F -

Solve the following explaining the above shloka

—50 + 500 =

+ 560 + 450 =

+ 600 — 300 =

4x5=20

10
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2. AU WOl WA 99 T |
Sﬁnyarnayoh khadhanayoh khastinyayorva vadhah stnyam |
I BT Tl AT FHI GHINA g 7 Fl & F -
Solve the following explaining the above shloka

(+60) +0 =

(+60) + 0

(<5)-0 =
(—=5)

0

3. 7% HHE 9 GERId BiF HI T S

Explain the shloka related to the value of 7.

11
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4. TordE o8 W& g a4 915 RO 1 T8 FX

Explain the angle formed by the transversal line.

12
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